EIRFIASHFEREROD—IV T KRR (EFRIEET BEHA—NMS)

Bt & &0 %
10813H
-2 E L~ | R& HL—% BIE | ot | e m
zF 1 'R |BEfaEx (FH) 5 433761
UG ILARAIL 2 BE |HAEDE (£33 3 425749 EIHKFE
30 R 3 ME  [DRE (RiE) 1 408762 FHE1RE
M 10:00 4 B |/MuEERTE (EF) 4 432701
5 BF |ERARSH  (BEH) 6 439”58
6 B |[EHER (B85 2 421725 FE2 %K
BF 1 = |/hLEDS (8F) 6 406712
UG ILARAI 2 &F |HWLkElE (ue) 3 352797| EINREK
31 REE 3 BE |FES (Ri#) 2 345726 2K
M 10:10 4 A |SEFEs (FD 1 344759 FIRE
5 = |#MEEA (B%) 4 357749
6 B  |MiRE (FH) 5 400”50
zF 1 iz |JEEAEER 3 411757 HFEIRE
BTILRAIL 2 2F |Bnei 5 413799
39 REE 3 B |[EEEK 1 406767 FHI1RE
Mt 10:20 4 B |EEER 2 409768| 2Lk
5 EF |LAEEK 6 418786
6 B |FHRAESK 4 412784
BF 1 = LOIESK 6 344734
BT ILAAIIL 2 5F |BREIFESK 3 3'36733| EINKEK
33 REE 3 BE |mEER 2 331747 FE2RK
it 10:30 4 B |[EEER 1 330734| E1HEK
5 = BFARAERK 4 339742
6 B |[BEEKR 5 343”19
zF 1 = BFHRER 2 400761 FE2HK
fEFHIARLTIL 2 BE |BEFER 1 353709 EI1REK
34 REE 3 = BARASR 3 401735 FEIRK
it 10:40 4 A | XKEER 4 402”66
5
6
BF 1 Iz |EEESR 6 335784
fEFHI+RLTIL 2 B |EHER 3 325765 EIRK
35 REE 3 B |[BEER 1 320750 EIRK
it 10:50 4 B |kEEK 2 3'22769| FE2K
5 MHE |[REER 4 328785
6 BE |BZAEK 5 332784




